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1/2 Oy( Y+2e( )+ Vo ) = O%( ),

H,O( y+2e( )+ Vo ) = O%( ) + Hy( ).
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WOz = WOz + R-T-Inp(Oy).

ARG
ARG = p(02)' - W(O2)" = R-T-In[p(02)/p(02)1.
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Welektr = 4-F. Ueq .

Ueq = (R-T/4-F)-In[p(O)/p(02)7.

Ueg/mV = 0,049606 - T/K - Ig [0,2093 - 1013,25 mbar / p(O,)] .



Vol.-% 9(02) pP(02) = ¢(Oz) - p / 100

p 1013,25 mbar

Ueg/mV = 0,049606 - T/K - Ig [20,93 Vol.-% / ¢(O2)]

(p(oz)lvol_% = 20,93-10 (Uea/mV)/(0,049606 - T/K) )

400 1000 °C

Ueg(Hz,H20-Luft)ymV = -1280,6 +{ 0,3165 + 0,0992 - Ig [p(H0)/p(H2)] }- T/K + 1.

Q = ¢(H20)/p(Hy),
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